Expressao

Substituicdo

x =tH

p=mm.c{n,q,...,s}

r aztb)® a;r—b:f“
v \extd cx+d

p=mm.c{n,q,...,s}

xf =t

Expressao

f(z) = R(z,vax? +bx +c)

Substituicao

Var?2 +br+c= Jax+t
sea >0

\/a.:sg—i—b:’.s—l—c:tm—i—\/E
sec >0

Var?+tbr+c=t(z—a)
ouvaxi+br+c=t(z—p)
se a e (3 sao zeros reais
distintos de az? + bx + ¢

Substituicdo

2 _ 2 x =a cos(t) ou == asen(t)

r2 —a? || # =a sec(t) ou x = acosec(t)

x2 + a? r=atg(t) ou x = acotg(t)




Expressdo Substituicdo

f(2) = R(sen(z),cos(z)) | tg(%) =1

f(x) = R(sen(z), cos(x)) tg(z) =1
R(—y,—z) = R(y, 2), Vy,z

tg (_j =t= x=2arctg(t) = p(t) = ¢'(t) = .
T+ 1_|_ tZ
— o2 [EY een2 (F) = I _ & (5)
cos(x) = cos (2) sen (2) C1+tg? (%) 1+tg? (%)
1-tg*(5)  1-#2
o 1—|—t-g2 (%) 12
- T tg (l) 1
sen(z) = 2sen Y cos (Z) =2 2 :
(2) (2) \/1+tg2(§) \/1+tg2(%)
_, te(3) 2
S lttg?(3)  1+#
©w(t) = arctg(t)
t 1
sen(z) = e cos(z) =




